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Conformations of Cycloalkanes
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___________________

Cyclopropane is a 3-carbon ring structure. The bond angles form an _____________ triangle with bond angles of ______ degrees. The bond angles between the carbon atoms would prefer to be _________ degrees but because of geometrical constraints of the 3 carbon ring, this is not possible. Thus, there is considerable __________________ in cyclopropane.

Cyclobutane is more _____________ than cyclopropane. Cyclobutane has considerable angle strain, but not ________________ in cyclopropane.
Cyclopentane has ___________ angle strain because the interior angles of a pentagon are 108°.
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Some Common / Important Simple Organic Molecules
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Cyclopentane—all bond
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Cyclohexane—all bond
angles are near 109.5°.



[image: image6.jpg]\ /
C=C
/ \
H H

cis-2-Butene




[image: image7.jpg]\ /
c=cC
/ \
H,C H

trans-2-Butene




